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SWi1:

routerid 1.1.1.1

#
ospf 1 router-id 1.1.1.1
area 0.0.0.0

network 1.1.1.1 0.0.0.0


https://zhiliao.h3c.com/questions/catesDis/110
https://zhiliao.h3c.com/User/other/45926

network 10.0.0.1 0.0.0.0
#

interface LoopBackO

ip address 1.1.1.1 255.255.255.255

#

interface GigabitEthernet1/0/1

port link-mode route

combo enable fiber

ip address 10.0.0.1 255.255.255.252

ospf authentication-mode md>5 1 cipher $c$3$fBQRFMv3k2QrKG01+4hhrsIHDzNKO+x/vA==
#

Sw2:

router id 2.2.2.2

#
ospf 1 router-id 2.2.2.2
area 0.0.0.0

network 2.2.2.2 0.0.0.0
network 10.0.0.2 0.0.0.0
#
interface LoopBackO
ip address 2.2.2.2 255.255.255.255
#
interface GigabitEthernet1/0/1
port link-mode route
combo enable fiber
ip address 10.0.0.2 255.255.255.252
ospf authentication-mode simple cipher $c$3$49RbBBJ1w6Uu8Ru30INDI/1prkzZ3XCwBxg==
#
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SWi1:

[SWH]int gi 1/0/1

[SW1-GigabitEthernet1/0/1]Jundo ospf authentication-mode md5 1
[SW1-GigabitEthernet1/0/1]ospf authentication-mode md5 1 plain 123456
[SW1-GigabitEthernet1/0/1]quit

Sw2:

[SW2]int gi 1/0/1

[SW2-GigabitEthernet1/0/1] undo ospf authentication-mode simple
[SW2-GigabitEthernet1/0/1]ospf authentication-mode md5 1 plain 123456
[SW2-GigabitEthernet1/0/1]quit
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